Table 1. Palay: April-June Crop Estimates as of 01 June 2020

	APRIL-JUNE						
		2020 FO	RECAST	Percent	Percent Change		
ITEM	2019 Final Estimate	Apr 2020 Standing Crop	Updated Standing Crop	Updated/ Apr 2020	Updated/ 2019		
(1)	(2)	(3)	(4)	(5)	(6)		
PRODUCTION (MT) Irrigated Rainfed Upland HARVEST AREA (Ha) Irrigated Rainfed Upland	3,852,526 3,371,821 444,515 36,191 915,317 737,248 161,920 16,149	4,111,047 3,503,624 575,273 32,151 956,170 749,087 190,765 16,318	4,116,591 3,502,913 581,590 32,089 956,128 749,085 190,725 16,318	0.13 -0.02 1.10 -0.19 0.00 0.00 -0.02 0.00	3.89		
YIELD PER HA (MT) Irrigated Rainfed Upland	4.21 4.57 2.75 2.24	4.30 4.68 3.02 1.97	4.31 4.68 3.05 1.97	0.23 0.00 0.99 0.00			

Table 2. Palay: Actual Harvested as of 01 June 2020

ITEM	PRODUCTION (MT)	AREA HARVESTED (HA)	YIELD PER HECTARE (MT/HA)
(1)	(2)	(3)	(4)
PALAY HARVESTED			
TOTAL	3,683,263	832,223	4.43
Irrigated	3,153,104	657,060	4.80
Rainfed	516,743	168,149	3.07
Upland	13,416	7,015	1.91

Table 3. Palay: April-June Actual Plantings (July-September 2020 Harvests) as of 01 June 2020

ITEM	APRIL 2020 PLANTING INTENTION	ACTUAL PLANTINGS	PERCENT OF PLANTING INTENTION
(1)	(2)	(3)	(4)
PLANTINGS (Ha) TOTAL Irrigated Rainfed Upland	847,790 569,256 249,799 28,734	416,892 288,674 105,845 22,373	49.17 50.71 42.37 77.76

Table 4. Palay: Area of Standing Crop by Stage of Development (July-September 2020 Harvests) as of 01 June 2020

ITEM	ALL STAGES VE		ATIVE	REPRODUCTIVE		MATURING	
	ALL STAGES	Hectare	In Percent	Hectare	In Percent	Hectare	In Percent
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)
AREA OF STANDING CROP							
TOTAL	540,796	278,905	51.57	143,526	26.54	118,365	21.89
Irrigated	380,699	209,190	54.95	85,482	22.45	86,027	22.60
Rainfed	128,422	57,138	44.49	48,186	37.52	23,098	17.99
Upland	31,676	12,577	39.71	9,858	31.12	9,240	29.17

Table 5. Corn: April-June Crop Estimates as of 01 June 2020

	APRIL-JUNE						
		2020 FOI	RECAST	Percent Change			
ITEM	2019 Final Estimate	Apr 2020 Standing Crop	Updated Standing Crop	Updated/ Apr 2020	Updated/ 2019		
(1)	(2)	(3)	(4)	(5)	(6)		
PRODUCTION (MT) White Yellow HARVEST AREA (Ha) White Yellow	1,172,191 278,193 893,998 377,035 151,230 225,806	1,349,095 247,231 1,101,864 393,732 137,995 255,737	1,361,188 249,392 1,111,795 393,767 138,028 255,738	0.90 0.87 0.90 0.01 0.02 0.00	16.12 -10.35 24.36 4.44 -8.73 13.26		
YIELD PER HA (MT) White Yellow	3.11 1.84 3.96	3.43 1.79 4.31	3.46 1.81 4.35	0.87 1.12 0.93	11.25 -1.63 9.85		

Table 6. Corn: Actual Corn Harvested 01 June 2020

ITEM	PRODUCTION (MT)	AREA HARVESTED (HA)	YIELD PER HECTARE (MT/HA)
(1)	(2)	(3)	(4)
CORN HARVESTED			
TOTAL White	1,007,384 144,031	292,680 83,664	3.44 1.72
Yellow	863,352	209,017	4.13

Table 7. Corn: April-June 2020 Plantings (July-September 2020 Harvests) as of 01 June 2020

ITEM	APRIL 2020 PLANTING INTENTION	ACTUAL PLANTINGS	PERCENT OF PLANTING INTENTION		
(1)	(2)	(3)	(4)		
PLANTINGS (Ha)					
TOTAL White Yellow	891,534 446,446 445,088	614,917 310,288 304,628	68.97 69.50 68.44		

Table 8. Corn: Area of Standing Crop by Stage of Development (July-September 2020 Harvests) as of 01 June 2020

ITEM	ALL STAGES ——	VEGE	VEGETATIVE		REPRODUCTIVE		MATURING	
		Hectare	In Percent	Hectare	In Percent	Hectare	In Percent	
(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	
AREA OF STANDING CROP								
TOTAL White Yellow	716,003 364,653 351,350	454,667 208,781 245,885	57.25	164,623 105,006 59,617	28.80	50,866	13.95	